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1) TRADE THEORY

Question No. 1/ Question ID 241
What is the name of the filter shown in the figure?

for 7 g=IfE 7T fbeer &1 8 @ 87

(A) O Mechanical filter (Correct Alternative) (Chosen Option)

fheer (Correct Alternative) (Chosen Option)

(B) O Magnetic filter
[g1Y flhecy

Marks: 2.00

www.globaliti.org




(C) O Return line filter
fee A fheer
(D) O Absorbent filter

Question No. 2 / Question ID 7 Marks: 2.00
What is the name of the screw shown in the figure?

for 7 famT 71U & &1 1 T 82

ww.globaliti.org

(A) O Self taping screw
K3

(B) O Drive screw (Correct Alternative) (Chosen Option)

SI%d %P (Correct Alternative) (Chosen Option)
(C) O Thread cutting screw

K3

(D) O Grub screw

PEK]

Question No. 3 / Question ID 199 Marks: 2.00
Which drive transmits motion at a constant velocity without any creep and slippage?

DI 7 8124 A1 fomdt I iR e & fRR 31 R 7ifay Tk & 82
(A) O Geardrive

freR grea




(B) O Rope drive
RRKCIEL
(C) O Chain drive (Correct Alternative) (Chosen Option)
SI%d (Correct Alternative) (Chosen Option)
(D) O Pulley drive

el 315

Question No. 4 / Question ID 255 Marks: 2.00
What is the name of the symbol shown in the figure?

1 ¥ gy 7T ycitep &1 A1 /1 57

w.globaliti.org

(A) ©O Double acting cylinder
SESNYERINRIN
(B) O Single acting cylinder with spring (Correct Alternative) (Chosen Option)
8 & a1y Rivra ufad fafeiss (Correct Alternative) (Chosen Option)
(C) © Moving part of valve
dled [ <] HIT

(D) O Pressure relief valve

SR Reliw ared

Question No. 5/ Question ID 69 Marks: 2.00
What is the name of the part marked as 'x' shown in the figure?

fomr & ferame 7w x' § fafga HFT &7 98 @ 82




(A) O Universal joint (Chosen Option)
;¢ (Chosen Option)
(B) O Expanding body
faR=id o

(C) O Stone
TH

(D) O Bronze guide (Correct Alternative)
DI TS (Correct Alternative)

www.globaliti.org

Question No. 6 / Question ID 223
Which system is operated by compressed air as energy inputs?
DI T YTl TS TR RT Foll 39YE & U | Tannferd gt 82
(A) O Electrical System
PG

~

(B) © Mechanical System (Chosen Option)
R (Chosen Option)

Marks: 2.00




(C) O Pneumatic System (Correct Alternative)
(Correct Alternative)
(D) O Hydraulic System
Recw

Question No. 7 / Question ID 141 Marks: 2.00
What is the name of the pipe line symbol shown in the figure?

o A <2ii| 77U ursy A8 Udie &1 719 w1 87

(A) O Plug orcap
ISUKIKE]

(B) © Union screwed

RERERC
(C) O Socket (Chosen Option)

5 (Ghosen Option) www.globaliti.org

(D) O Reducer concentric (Correct Alternative)
(Correct Alternative)

Question No. 8 / Question ID 75 Marks: 2.00
Which metallic coating is done by rolling the layers of metal on to base metal?
DI Tt U1g HIFET o1 Pt TRA B SATYR T W A BB PI Il 872
(A) O Cladding (Correct Alternative)
5T (Correct Alternative)
(B) O Spraying (Chosen Option)
21T (Chosen Option)
(C) O Enamelling
EREIRU|

(D) O Molten metal bath
EIRI

Question No. 9 / Question ID 258 Marks: 2.00
What is the name of the pneumatic valve symbol shown in the figure?

o= # g2t U gy ared Udie &1 T AT 87




(A) O Directional control valve (Correct Alternative)
fri=uT aTed (Correct Alternative)
(B) O Roller valve
AR dled

(C) O Flow control valve (Chosen Option)
Ud1g {35301 aTed (Chosen Option)
(D) O Pressure valve
U3R dlcd

Question No. 10 / Question ID 198 Marks: 2.00
What is the name of the part marked as ‘x’ shown in the figure?

Rt 2 R T ¢ 9 FofRe o111 0 1 27 ‘www.globaliti.org




ww.globaliti.org

(A) O Flank
ESEZ

(B) O Addendum (Correct Alternative)
iSH (Correct Alternative)
(C) O Face width (Chosen Option)
T Dt Eﬁ?ﬂ'sc (Chosen Option)
(D) O Root circle
RIel

Question No. 11 / Question ID 80 Marks: 2.00
What is the purpose of annealing?
THITCT BT I54 T 672
(A) O To soften the steel (Correct Alternative) (Chosen Option)
W B RABA & ﬁl‘l'{ (Correct Alternative) (Chosen Option)

(B) O To add cutting ability

DI & Sl & forw
(C) O To refine the grain structure of the steel

U A DI N1 = & forg

(D) O To increase wear resistance

fere & ufcRly @t g & fag




Question No. 12 / Question ID 299 Marks: 2.00
Which document used to authorize and instruct the work team to take a production work?

3T B B & I8 &1 g & S1fTHd B 3R 3 <7 & g [y gxarast &1 IganT foar Srn g7
(A) O Inspection report
fRteror Rard
(B) O Productivity report (Chosen Option)
JdTedwdl RUIE (Chosen Option)
(C) O Job card (Correct Alternative)
Sig P18 (Correct Alternative)

(D) O Process chart
gfehar a1e

Question No. 13 / Question ID 66 Marks: 2.00
What is the use of Taly - Surf?
<ot - 0 BT IUIRT T 52
(A) O To measure angle
HI01 AU & fog
(B) O To measure parallelism
BEIGRGIRSICECAY
(C) O To measure surface texture (Correct Alternative) (Chosen Option)
Tdg P g91G¢ oA & f%fl'{ (Correct Alternative) (Chosen Option)
(D) O To measure flatness

JHIAdT A9 & forg

Question No. 14 / Question ID 52 WWW. g IO bafl quo O rg

What is the name of the part marked as ‘X’ shown in the figure?

o # fezame e @ Rifgd Wi &1 9mH R 82




MO Datum surface www.globaliti.org

(B) O Taper angle
R T

(C) O Length of sine bar (Chosen Option)
139 §R &1 daTs (Chosen Option)

D) O Helght of Sllp gauge (Correct Alternative)
=9 A% $t g (Correct Alternative)

Question No. 15/ Question ID 176 Marks: 2.00
What is the name of the part marked as ‘x’ shown in the figure?

o # fezame 7w % @ fRfgd HmT 1 W R 82




(A) O Driver pulley

g g www.globaliti.org

(B) O Step pulley
XU

(C) O Jockey pulley (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Driven pulley

Question No. 16 / Question ID 84 Marks: 2.00
What is used to achieve faster rate of cooling in the quenching process?

T vfeha H 2fided &t ao &R U B & ford fordent IuanT b Sirar 872
(A) O \tIIV_ISéer

(B) O Oil
ad

(C) O Brine solution (Correct Alternative) (Chosen Option)
SIS "R (Correct Alternative) (Chosen Option)
(D) O Air
arg

Question No. 17 / Question ID 281 Marks: 2.00
What is the frequency of oiling symbol shown in the figure?

forr & 1T 71T dat @A & Ul Bt gy o 82




(A) O Daily (Correct Alternative) (Chosen Option)
A (Correct Alternative) (Chosen Option)
(B) O Weekly

©0 M*m”;'t'ﬁf www.globaliti.org

(D) O Once in six month
BE HelH H TP IR

Question No. 18 / Question ID 28 Marks: 2.00
Which file is used for silversmith's work?
Ry & S & [T SUANT DI ST aTcl! Bigd BT A1 sy |
(A) O Warding file

AR
(B) O Riffler file (Correct Alternative)
T (Correct Alternative)
(C) O Min saw file
[EE RS IER|
(D) O Pillar file (Chosen Option)
TIgd (Chosen Option)

Question No. 19 / Question ID 316 Marks: 2.00
What is the name of the slinging device shown in the figure?

o # fezamy v AT IueRur &1 AW R 82




(A) O Barrel hook (Chosen Option)

3% §% (Chosen Optin) www.globaliti.org

(B) O Eye hook with safety catch
Ut T & 1Y 37T §h
(C) O Swivel spring safety hook (Correct Alternative)
fRITT &M §F (Correct Alternative)
(D) O Eye hook
3G BT gD

Question No. 20 / Question ID 146 Marks: 2.00
What causes water dripping from the tap even after it is closed?
4 8¢ 811 & a1 |l 90 ¥ UM <USHA &1 1 HRU 82
(A) O Spindle thread wornout (Chosen Option)

IS ¥ ORI ST (Chosen Option)
(B) © Bend spindle
ISd BT 48 ST
(C) O Defective washer (Correct Alternative)
IR (Correct Alternative)
(D) O Loose valve
GGG

Question No. 21 / Question ID 242 Marks: 2.00
Which valve controls the direction of the flow of fluid?
I U1 dTcd 9 & UATE B [G=T Bl e ld Bl 672
(A) O Flow control valve
Udrg aaur ared




(B) O Directional control valve (Correct Alternative) (Chosen Option)
e v areg (Correct Alternative) (Chosen Option)
(C) O Pressure control valve
CCICABREIGICE|
(D) O Non-return valve
dled

Question No. 22 / Question ID 46 Marks: 2.00
Which grade slip gauge is used for precision tool room applications?
R ¢a 1 Sy & o fg s & U 711 &1 IudiT fean ST g2
(A) O Grade | (Correct Alternative) (Chosen Option)
Grade | (Correct Alternative) (Chosen Option)
(B) O Grade 0O
Grade 0
(C) O Grade ll
Grade Il

(D) O Grade 00
Grade 00

Question No. 23 / Question ID 287 Marks: 2.00
Which cutting oil is used in automatic lathes?
fferifed dcy # o9 I BT Hiad gxHTd fovar Srar g2
(A) O Compounded (or) blended oil (Correct Alternative)
(m wSs ad (Correct Alternative)
(B) O Straight mineral oil (Chosen Option) .o
e e 3 (Ghosen Opton) www.globaliti.org
(C) O Fatty oil

ERINCIK
(D) O Soluble ol

Question No. 24 / Question ID 111 Marks: 2.00
What is the name of the bearing shown in the figure?

fo & feame e feafeT &1 A 1 52




(A) O Special thrust bearing (Correct Alternative)
fa=iw u=e 9°fT (Correct Alternative)

(B) O Roller bearing
RERERIRY

(C) O Double roller bearing (Chosen Option)

) T T T (Cnosen Optor) www.globaliti.org

IRC FTNAT

Question No. 25 / Question ID 177
Which type of belt is used if the distance between the shafts are too short?

IS JMUe & &g B g3l 9gd HH 6, a1 [ UHR DI Sec BT SUANT o il 82
(A) O Ribbed belt
fYsg S

(B) O Link belt (Chosen Option)
INCEC (Chosen Option)
(C) O V’ belt (Correct Alternative)
AC G (Correct Alternative)
(D) O Flat belt

Marks: 2.00

Question No. 26 / Question ID 101
Which bearing carries the load parallel to its axis?

DI 1 T YR BT 3O 3 & THMIAR 98 BT 872
(A) O Plain bearing
wiH faafar

(B) O Thrust bearing (Correct Alternative)
e foaf¥t (Correct Alternative)
(C) O Radial bearing (Chosen Option)
(Chosen Option)

Marks: 2.00




(D) O Split bearing
Ree fegia

Question No. 27 / Question ID 277 Marks: 2.00
What is the frequency of oiling symbol marked as ‘x’ shown in the figure?

o 7 gifu 7 x A fRifgd 9 T & udie Bt 18?2

www.globaliti.org

(A) O Weekly

(B) O Monthly (Correct Alternative) (Chosen Option)
& (Correct Alternative) (Chosen Option)
(C) O Yearly
GlIRED




(D) O Daily
N

Question No. 28 / Question ID 57 Marks: 2.00
What is the name of the instrument shown in the figure?

for 7 fEaTT 71U IUHRT BT AT 1 32

www.globaliti.org

(A) O Clamp type height gauge
iy T3y Bge TS

(B) O Height gauge with slip gauge holder (Correct Alternative) (Chosen Option)
Fau & g1y 31%2’ ol (Correct Alternative) (Chosen Option)

(C) O Depth vernier gauge
S IR TS




(D) O Vernier height gauge
HECAIE]

Question No. 29 / Question ID 231 Marks: 2.00
Which term refers to the wear and tear of gear tooth due to cyclic load under high contact stress?
P Il et I YU d11d & dgd g1 UR & HRUI R gY Pt ge-e b UaHd Hdl 87
(A) O Fatigue breakage

YhTq
(B) O Cold flow
RIGRCIH
(C) O Crushing (Chosen Option)
[T (Chosen Option)
(D) O Rippling (Correct Alternative)
T (Correct Alternative)

Question No. 30 / Question ID 189 Marks: 2.00
Where is universal coupling used?
gfafet ufdiT &1 IUTIT Hat e 82
A) O Automoblle vehicles (Correct Alternative) (Chosen Option)
dlgd | (Correct Alternative) (Chosen Option)
(B) O Textiles mills
®Us A A

(C) O Compressors
DR

DO www.globaliti.org
Question No. 31/ Question ID 175 Marks: 2.00

What is the name of the belt fastener shown in the figure?

3 o faQTU 70 Sec BReR &7 911 &1 872




ww.globaliti.org

(A) O Wire type
diIR <y

(B) O Alligator type (Correct Alternative) (Chosen Option)
CIgYU (Correct Alternative) (Chosen Option)
(C) O Lagrelle type
SEE)
(D) O Crescent plate type
; -

Question No. 32 / Question ID 12 Marks: 2.00
What is the name of the file shown in the figure?

o & i 71 I3 &1 A 1 ¥?




(A) O Swiss pattern file
EEERIES
(B) O Pillar file
UeR wigd
(C) O Warding file (Correct Alternative) (Chosen Option)
1T WTgd (Correct Alternative) (Chosen Option)
D) O Dreag naught file

st obalit

Question No. 33 / Question ID 129 Marks: 2.00

Which bearing material is an alloy of tin or lead-based?
o1 I faafe grmht foe ar T smenfya firsy arg 82
(A) O Sintered alloy

i [EEVII
(B) © Aluminium alloy

oy o1
(C) O White metal (Correct Alternative) (Chosen Option)
g YTq (Correct Alternative) (Chosen Option)
(D) © Cadmium-based alloy
o9 iy urg

Question No. 34 / Question ID 311 Marks: 2.00
Which aligns the machine tools accurately?
DI AR T P TeIdh FU F AT HaT 87
(A) O L'Square
L' THaAWR
(B) O Try square
CTs WhauR
(C) O Precision spirit level (Correct Alternative)
faufve w1 @R (Correct Alternative)
(D) O Steel rule (Chosen Option)
Id ¥d (Chosen Option)




Question No. 35/ Question ID 20 Marks: 2.00
What is the name of the part of tubular box spanner marked as 'x' shown in the figure?

forzr & feame T ¢ 9 fafgd SR TR & HFT BT TH T 872

www.globaliti.org

(A) O Tommy bar (Correct Alternative)
T IR (Correct Alternative)
(B) O Handle (Chosen Option)
%'?aﬁ (Chosen Option)
(C) O Body
EIS]]

(D) O Head
8S

Question No. 36 / Question ID 143 Marks: 2.00
What is the name of the part marked as 'x' shown in the figure?

fomr & ferame 7w x' § fafgd FT &1 98 @ g2




(A) O Cutter wheel (Correct Alternative) (Chosen Option)
PR A (Correct Alternative) (Chosen Option)
B) O Adjus!ing screw
kg
(C) O Guide rollers

TS e
(D) O Hand lever
USENIER

www.globaliti.org

Question No. 37 / Question ID 96
What is the name of the gauge shown in the figure?

for 7 feame 71U A1 1 1 1 82

Marks: 2.00




(A) O Thread plug gauge (Correct Alternative) (Chosen Opfj = A
p DA EIE] (Correct Alternative) (Chosen Option)WWW . g I O b a I Itl . O rg

(B) O Thread ring gauge
I T et

(C) O Screw pitch gauge

¥p o= I
(D) O Thread caliper gauge
IS BT T

Question No. 38 / Question ID 116 Marks: 2.00
Which ball bearings are used to accommodate slight misalignments of the shaft?
YMYE & AT FATSae-THe & RN $HRA & [ DI 9 ard ST &1 ITRT faaT ST g2
(A) O Ball bearing
CISERIRI
(B) O Plain bearing
1e 9gRIT
(C) O Self aligning ball bearing (Correct Alternative) (Chosen Option)
- I1a 97T (Correct Alternative) (Chosen Option)

(D) © Double row ball bearing
SERRIESEINERIR]

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 327 Marks: 2.00
Which one of the following geometrical shapes centre of gravity lies from its base is 1/3 of its height?

A9 T 1 1 AT TP B7 TaThy g 3Tb YR I YT 8, TSB! $a1s 1/3 82




(A) O Rhombus
ICRECa|

(B) O Square
0]

(C) O Triangle (Correct Alternative) (Chosen Option)
ﬁﬁ\_r[ (Correct Alternative) (Chosen Option)
(D) O Cone
[P

Question No. 2 / Question ID 334 Marks: 2.00
What are the various stages of heat treatment?
W1 SUER & fafi= =R0r &1 82
(A) O Quenching, Cooling and Heating
v X

(B) O Heating, Soaking and Quenching (Correct Alternative)
gifer, [ 3R F&RIAT (Correct Alternative)
(C) O Heating, Cooling and Quenching (Chosen Option)
BT, ?ﬁ'ﬂ'{ 3R gafdm (Chosen Option)
(D) O Soaking, Quenching and Cooling
SR .

b

Question No. 3 / Question ID 325 Marks: 2.00
Which is used to reduce the friction in machine parts?

A=A YIT & 907 1 B8 B o o et JudiT fohar ST g2
(A) O Lubricants (Correct Alternative) (Chosen Option) 1k

gD (Correct Alternative) (Chosen Option) WWW . g I O b a I Itl . O rg
(B) O Water

(C) O Petrol

A

(D) O Kerosene

figt &1 dt

Question No. 4 / Question ID 335 Marks: 2.00

What is the name of the structure formed, if a steel is heated for about 723°C?
I IS BT 10 T 8, Tfe Tha Bl 723°C TR TTH {HaT ST 872
(A) O Cementide

(B) O Austenite (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Martensite

(D) O Ferrite

Question No. 5/ Question ID 337 Marks: 2.00
Which authority publishes schedule of rates?

DIH-T UTFAHROT &= & ST BT UG Bl 572




(A) O Government department (Correct Alternative) (Chosen Option)
TRHRY fTAUTT (Correct Alternative) (Chosen Option)
(B) O Corporate
Y Yafdd (@IaRe)
(C) O Partnership firm
gI¢RIRMY

(D) O Individual

Question No. 6 / Question ID 339 Marks: 2.00
What is the other term of pocket reference in engineering works?
SR Sl § Ufdhe Y0y o1 gIRT Wee 1 872
(A) O Good book

Is g
(B) O Hand book (Correct Alternative)

Yf¥I®T (Correct Alternative)
(C) © Hand tool

B
(D) © New book (Chosen Option)

=g g (Chosen Option)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 345 Marks: 2.00
The rivet head for a general purpose shown in the figure below is

1 faw 7 R ey T g e & RigRae e ® . vangoballtIOl‘g

(A) O snap

(B) O counter sunk (Correct Alternative) (Chosen Option)
PI3CY Y~ (Correct Alternative) (Chosen Option)

(C) O pan
o

(D) O flat
T

Question No. 2 / Question ID 350 Marks: 2.00




Which of the following is used to block the pipe at one end?
79 7 O frae 7anT ugu &) T RR R sl & & o fasar Sirar g7
(A) O Reducer

(B) O Union

g

(C) O Plug (Correct Alternative) (Chosen Option)
I (Correct Alternative) (Chosen Option)
(D) O Couplings
Hyferg

Question No. 3 / Question ID 359 Marks: 2.00
Nut and bolts are
7c 3R dee gl
(A) O semipermanent
315 T
(B) O permanent fastening
Rt i
(C) O semitemporary
31ef
(D) O temporary fastening (Correct Alternative) (Chosen Option)
[T (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 347 Marks: 2.00
Riveted joints is a

Ravewie & www.globaliti.org

(A) O permanent joints (Chosen Option)
BJjp]| Gﬁ%‘c’ (Chosen Option)
B) O temporar}J/ joints
SIE
(C) O semi permanent (Correct Alternative)
3t RITY (Correct Alternative)

(D) O none of these

39 A P el

Question No. 5/ Question ID 351 Marks: 2.00
Which one of the following accommodates four pipes in a pipe fitting?
frafaRad & ¥ SH-91 T sy fhicT & IR gl &l SHr™INT $HRdl 672
(A) O Cross (Correct Alternative) (Chosen Option)
P (Correct Alternative) (Chosen Option)
(B) O Tee
&

(C) O Union

(D) O Elbow

Question No. 6 / Question ID 343 Marks: 2.00
Which of the following is not a main part of rivet?

Fafafaa & 3 o9 a1 Rde &1 g5 Ui 8t 82




(A) O Shank
RICa
(B) O Point (Correct Alternative) (Chosen Option)
Fq"g (Correct Alternative) (Chosen Option)
(C) O Head

(D) O Tail

4) EMPLOYABILITY SKILLS

Question No. 1 / Question ID 492 Marks: 2.00
What is the standard way in which computers connected wireless?
SR B AR IRIdh F HIFE B BT AHD ARIDT HT 672
(A) O ISP

ISP
(B) O WAN
WAN
(C) O Wi-Fi (Correct Alternative) (Chosen Option)
Wi-Fi (Correct Alternative) (Chosen Option)
(D) O LAN
LAN

Question No. 2 / Question ID 434 Marks: 2.00
Important factors to think about before migrating

AT R ¥ UG =R R Iy Agayul R o
(A) O tourist place (Chosen Option)
El?f[E:[RJFT(Chosen Option) WWW'QIObaIItI'Org
B) O fregdom
REGEGI
(C) O easyjob
ST BT
(D) O cost of living (Correct Alternative)
Siae 194 91 R (Correct Alternative)

Question No. 3 / Question ID 418 Marks: 2.00
What is workplace etiquette?

"SRR TR RITER (TP e) w1 872

(A) O Gossiping
TR

(B) O Casual behaviour with colleagues
TEH AT & 1Y TR (F3HT) TAER

(C) O Proper behaviour and workplace professionalism (Correct Alternative) (Chosen Option)
3T IR 3R SIS ATTHTRAIGAT (WHBRFTISH) (Correct Alternative) (Chosen Option)

(D) O Everyday manners outside of work

BT & J8R AR & RIPER

Question No. 4 / Question ID 579 Marks: 2.00
How does design thinking help solve problems?

foomsa Rifd T ford YR ganaii &l 8 B3 H Heg Bl g2




(A) O By following a strict process
T fReae U1y 1 UTe b1
(B) O By trusting on personal assumptions
SR YROMS{T TR HRIGT BT
(C) O By guessing solutions randomly
SRS ST Y GHIYM] b1 SITH TR
(D) O By understanding what people need and improving solutions (Correct Alternative)
(Chosen Option)

g HHA PR & & & T EIT%E{ 3R FHTYTH | YRR PIAT (Correct Alternative) (Chosen
Option)

Question No. 5/ Question ID 513 Marks: 2.00
While thinking about learning, what are the questions you can ask yourself?
a1 % TR H Terd 9T 319 G J S I U UD Tohd 872
(A) O ltis very tough
g dgd i e
(B) O ltis very difficult for me to understand
R foU 9 W 95 giRed ©
(C) O Its waste of time
Ig T P gaidl 3
(D) O How can | learn and understand better? (Correct Alternative) (Chosen Option)

A TeR WP | 3 Hiw 3R HHYA b dl E’? (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 541 Marks: 2.00

Which is the most important document required by companies to select people forgob? ngn
s 1 et e e v e e o s et WL g O Aliti.org
(A) O Conduct certificate

IRA JHIOTA
(B) O Your certificate
ST hT YHTUTTA
(C) O Your resume (Correct Alternative) (Chosen Option)
GITWW (Correct Alternative) (Chosen Option)
(D) O Sports certificate
Qe JHTOTO

Question No. 7 / Question ID 365 Marks: 2.00

For applylng a job your first preparation is

& Ru e P U amUBl g ol R |
(A) O prepare for interview

Y & T TRt Y
(B) O save money for expenses

T4l & fog oY ¥
(C) O preparing resume (Correct Alternative) (Chosen Option)

P (Correct Alternative) (Chosen Option)

(D) O book a ticket to interview place

HIETHR R & folU T fehe gob B

Question No. 8 / Question ID 399 Marks: 2.00
What is stress?
WY (ATE) FT 82




(A) O Feeling of surprise
315 T U
(B) O Feeling of frustration/ disappointment (Correct Alternative) (Chosen Option)
TATRI/FRTRIT &t HTaAT (Correct Alternative) (Chosen Option)
(C) O Feeling of delight
3T & rfd
(D) O Feeling of joy
3G T 3rgHfd

Question No. 9 / Question ID 393 Marks: 2.00
Which kind of persons are with very good behaviour, achievements and lead as an example?
forg e & iad Tgd 3w HGER, IUasrdl 3R AJd & I&IexUI 8Id 672
(A) O Role models (Correct Alternative)
e ATSd (Correct Alternative)
(B) O Customer service executives (Chosen Option)
HER gfag w\—rﬁaqi%a (Chosen Option)
(C) O ITlinstructors
ITI SFR
(D) O Sales supervisors

I YURATIOR

Question No. 10 / Question ID 567 Marks: 2.00
As a machine operator, while working with your machining you find the machine is not working properly.
What should you do?

T AR SRR & =0 H, 3(U-1 7204 & 1Y &0 Hd 99 ' 3 '
(A) O Ignore it

U TUR AT A1gY
(B) O Blame someone for the defect

3N & for st o1 iy & anfee

(C) O Try to find the cause and remedies for the problem to solve it (Correct Alternative) (Chosen
Option)
THJT BT PRUT 3R IV 8 B &b IUTT WIS BT YATH BT I3 (Correct Alternative)
(Chosen Option)

(D) O Hide the machine

AN & gTsS B o1 AT

Question No. 11 / Question ID 412 Marks: 2.00
During a job interview, which of the following responses shows good formal communication?

Tt & [T WeTHR & eRH, Fafiied § @ o9 9 ufafear sre1 Biia RgHeRE g 87

(A) O "My top three skills are problem-solving, teamwork, and attention to detail." (Correct
Alternative) (Chosen Option)

"R 1Y 9 SR % ﬁW-ﬂﬁ‘T, L] ?ﬁi 3R 5T wR e eTI” (Correct Alternative)
(Chosen Option)

(B) O "I'm pretty good at a lot of things."

"3 sgd 41 <l B agd ST § 1"
(C) © "Uh, I guess | can do a little bit of everything."

"38, T3 T 8 b H UIST-U1ST I $© P Tl g 1"
(D) O "l don't know, | never really thought about it."

" TgY ST, §9 add H 39 IR | 781 It




Question No. 12 / Question ID 461 Marks: 2.00
Some one plans to move to a different city for work, should
ﬁmﬁm%%ﬁgﬂi-llsiff\fllﬂﬁql\rHIWQBT%Bﬁ |

(A) O Find how much it will cost to travel and live there; earn and save. (Correct Alternative)

I {6 981 a1 # 3R 81 § fohd=m @ 3mewm; 3 3R |a HA1 A1RT (Correct

Alternative)
B) O Apply for loan in bank.
o 07 o foT 3G A1 A1y
(C) O Move to new place and search for job. (Chosen Option)
:rsch‘s’tRGan aﬁ?ﬁﬁﬁmmaﬁu (Chosen Option)

(D) O Ask money from relatives and friends.

fRRERT SR Tral ¥ U9 A =1y
Question No. 13 / Question ID 591 Marks: 2.00
Working hard to achieve your goals and not giving up when you face failure is called
3T A&} B UTE B & ol Hot AgTd HRAT 3R SHAdT fHd W R 7 J=-1 HEAT &

(A) O Independent decision making (Chosen Option)
a7 U AT (Chosen Option)
(B) O Grit (Correct Alternative)
fre (Correct Alternative)
(C) O Self-belief
3T fayrg
(D) O Self-awareness
X SMR=chdl

Question No. 14 / Question ID 613 - arks: 2.00 f I g

If someone wants to sell home made products, what they have to do, to grow the business?
3R PSR T § IMIG Ja1 A6 § ol S AT TG P foIg FT BT g2
(A) O Only sell to her neighbours

P9 IYP TSI B & ST TRy
(B) O Wait for an opportunity to grow the business

T §GH & TR P! Y&l B! Ay
(C) O Keep doing the same thing without any changes

fobdl SadTd o I8 S Hd I8 MY
(D) O Find shopkeepers and build marketing with them. (Correct Alternative) (Chosen Option)
Kai f{é B 3R TP 1Y HIPH TSI FATT T'-IT%Q (Correct Alternative) (Chosen Option)

Question No. 15/ Question ID 538 Marks: 2.00
Plan, Prepare, Perform is related to
@M, R, weiH_ Agdfas
(A) O attending interview (Correct Alternative)
TILTPR | HTT AT (Correct Alternative)
(B) O your work
3T9eT ST
(C) O your resume (Chosen Option)
&WW (Chosen Option)
(D) O vyour personality
STYhT




Question No. 16 / Question ID 605 Marks: 2.00
Find the Entrepreneur from the given options.
f&T 7T fawedl & F IgHt &1 udr A |
(A) O Cabinet Secretary
piee dhes!
(B) © Anand Mahindra (Correct Alternative)
3T+ ufgsn (Correct Alternative)
(C) O RBI Governor (Chosen Option)
RBI @R (Chosen Option)

(D) O SBICEO
SBI CEO

Question No. 17 / Question ID 440 Marks: 2.00
Future Skill for work places, which has less importance?
FHRIRIA & oI UII™T & SR, fhdeT Ted HH g7
(A) O New technology (Chosen Option)

i (Chosen Option)
(B) O Work from home
WY BH
(C) O Work with digital tools
f&fSred g & 1Y HH B
(D) O Working hours only in between 9 AM to 5 PM (Correct Alternative)
T 99T Had gdg 9 TAIA AW 5T & d g (Correct Alternative)

Question No. 18 / Question ID 564 Q0
While working with a team, if we notice a co-worker struggling WWI’W\W(R)Q, lw%h?fﬁi@ doQ rg
TS A & Y HTH B 9T, Al 89 frdlt TehH! &l 30 HH & a1 I S=Id §U d &, dl 88 T &Rl
Bl
(A) O Laugh at their inability to manage their workload.
FHRIYR B B XA B 301 SaddT IR 591 AT

(B) O Ignore their struggles and focus on your own work.

I HINl R G A ¢ 3R 30 B W A diad BT Aoy
(C) O Report their struggles to the supervisor.

JURATZSR &1 37 Fg8! I KU BT AT

(D) O Offer to help them with their tasks. (Correct Alternative) (Chosen Option)
F 3% BT § Heg B P AT ITHR HAT F1fT (Correct Alternative) (Chosen Option)

Question No. 19 / Question ID 580 Marks: 2.00
If you come up with an idea to improve the work using design thinking. What must you do next?

e 3y FETT8 Rifds T FT ITAN b BT B S5 I BT DS (AR ABR 31T & | SHTIDT ST FT HRAT
Bl
(A) O Think of another idea
IR SMTSfSaT & IR T Wi dTed
(B) O Write down his idea and keep it safe
3T 31T B! forg xR YRI& @ T ANy
(C) O Apply and test if it works (Correct Alternative) (Chosen Option)

Ife g HTH HIAT 8 oY STATS BT 3R 37 BT I (Correct Alternative) (Chosen
Option)




(D) O Tell everyone about it
$H$ TR H Gt I I AT

Question No. 20 / Question ID 462 Marks: 2.00
If you want to work in a foreign country, to migrate safely, you have to

gfe 3y faew & S A1 I16d €, d JRId Jarg & o smaes! |

(A) O Learn about the place, confirm the job before moving. (Correct Alternative) (Chosen
Option)

3T aaer ¥ Ugd SR8 & 9% | &F a1 3R NP3 gt B AT ﬂT%T{ (Correct Alternative)
(Chosen Option)

(B) © Think how you spend your money.

IRIT STADT ST U1 T DAT AT
(C) O Move and ask for confirmation.

3T §&T1 3R g & fore g =nfeu

(D) O Leave to foreign country without informing anyone.

o1 fop it &1 9dTT fac=T =t ST =mfeT

Question No. 21 / Question ID 452 Marks: 2.00
To become a gig worker, a person should find gig work opportunities by means of
T AT adR a9 & 0 b g @) % HiH @ A 7 & SaeR Qe ARy
(A) O Find a multi national company.
T Hec! ARHd HU-T FioH A1y
(B) O Study about gig work. (Chosen Option)
7T g & SR § 399 A1 91T (Chosen Option)
(C) O Connect with friends, people you might know and groups in your co mupities. I(Ic'f"eCt

Alternative)
o ST, T @ Y o ST &Y i oy WW, %mo alitl.org

Alternative)

D) O Independently search for job.
Wi T Y AIGY B 99 BT AT

Question No. 22 / Question ID 373 Marks: 2.00
Table, wire, socket, cable, hammer, nail-are
39, OR, Wb, baa, gl Aa . 21
(A) O describing words
fSepRfdm aga
(B) O pronouns
PICIRE]
(C) O action words
EENECRR
(D) O naming words (Correct Alternative) (Chosen Option)
AftAT H@W (Correct Alternative) (Chosen Option)

Question No. 23 / Question ID 491 Marks: 2.00
What is called a media presentation shared over the Internet?

ga3-Ic R ST &1 S arell HifSaT USiexM &l o7 gl SIIdT 872
(A) O Seminar
IR

(B) O Live telecast
NIEE]




(C) O Live media (Chosen Option)
dreg Hifsar (Chosen Option)
(D) O Webcast (Correct Alternative)
(Correct Alternative)

Question No. 24 / Question ID 490 Marks: 2.00
The conversion of computer data from one format to another is called
HCR ST B! THh HlHe I G WIHC H FGa HEardl g

(A) O pasting
of

(B) O Data conversion (Correct Alternative) (Chosen Option)
ST HaR (Correct Alternative) (Chosen Option)

(C) O cutting
BT

(D) O copying
EIIEN

Question No. 25 / Question ID 503 Marks: 2.00
What is the basic requirement for IT related work?
IT & Feiferd o o f7g Herd SMawaendl o1 82
(A) O Computer (Correct Alternative)
W (Correct Alternative)
(B) O Browsing

(C) O IT companies (Chosen Option) "
IT Ui (Chosen Option) WWW.gIObaIItI .Org

D) O I_nternet




